$$\frac{\text{Thm } \text{Let } \mathcal{D} \subseteq \text{IR}^{n} \text{ be open, } f \text{ be } \underline{C}' \text{ on } \mathcal{D}, \text{ then} \\ \underline{f} \text{ is } \underline{\text{differentiable}} \text{ on } \mathcal{D}.$$

$$\frac{f \text{ the assumption requires all } \xrightarrow{2f} \text{ exist on } \mathcal{D}, \text{ not } j\text{ ut at a surget pt. } \overline{a})$$

$$\frac{\text{Pf:}}{\text{The assumption requires all } \xrightarrow{2f} \text{ exist on } \mathcal{D}, \text{ not } j\text{ ut at a surget pt. } \overline{a})$$

$$\frac{\text{Pf:}}{\text{Suppose } (a, b) \in \mathcal{D}} \text{ a } B_{\delta}(a, b) \in \mathcal{D} \text{ (b)} \in \mathcal{D} \text{ (b)} \text{ for any } (X, Y) \in B_{\delta}(a, b)$$

$$f(x, y) - f(a, b) = f(x, y) - f(x, b) + f(x, b) - f(a, b)$$

$$= f_{y}(x, k) (y - b) + f_{x}(k, b) (x - a) \text{ (by Mean Value)} \text{ There end }$$

where k between y & b; h between X & a.

$$\frac{|E(x,y)|}{||(x,y)-(a,b)||} = \frac{|f(x,y)-f(a,b)-f_{x}(a,b)(x-a)-f_{y}(a,b)(y-b)|}{||(x,y)-(a,b)||}$$

$$= \frac{|f_{y}(x,b)(y-b)+f_{x}(b,b)(x-a)-f_{x}(a,b)(x-a)-f_{y}(a,b)(y-b)|}{||(x,y)-(a,b)||}$$

$$= \frac{\left| \left(f_{x}(h,b) - f_{x}(a,b) \right) (x-a) + \left(f_{y}(x,b) - f_{y}(a,b) \right) (y-b) \right|}{\left| \left((x,y) - (a,b) \right| \right|}$$

$$\left(\begin{array}{c} \text{Cauchy-} \\ \text{Sduwayz} \end{array} \right) \leq \frac{\int \left(f_{x}(h,b) - f_{x}(a,b) \right)^{2} + \left(f_{y}(x,b) - f_{y}(a,b) \right)^{2} }{\left| \left((x,y) - (a,b) \right| \right|} \\ = \int \left(f_{x}(h,b) - f_{x}(a,b) \right)^{2} + \left(f_{y}(x,b) - f_{y}(a,b) \right)^{2} \end{array}$$

Note that if
$$(x,y) \rightarrow (q,b)$$
, then $(h,k) \rightarrow (q,b)$.
Hence

$$\frac{|E(x,y)|}{||(x,y)-(a,b)||} \leq \sqrt{(f_x(h,b)-f_x(q,b))^2 + (f_y(x,k)-f_y(q,b))^2} \rightarrow 0$$

$$as (x,y) \rightarrow (a,b)$$

$$because f_x & f_y are (actionuous)$$

$$\therefore f is differentiable at (a,b).$$
Since $(a,b) \in S^2$ is arbitrary, f is differentiable on $S^2 \times 1$

And $ln(f(\vec{x}))$ when $f(\vec{x}) > 0$ $\sqrt{f(\vec{x})}$ when $f(\vec{x}) > 0$ are differentiable. $|f(\vec{x})|$ when $f(\vec{x}) \neq 0$ $ln|f(\vec{x})|$ when $f(\vec{x}) \neq 0$ In $|f(\vec{x})|$ when $f(\vec{x}) \neq 0$ In particular, for example $\frac{Q}{ln(1+loo(x^2y))}$ is differentiable in $ln(1+loo(x^2y))$ the domain of defaition

⇒ f is C¹ (on its domain) ⇒ f is differentiable (on its domain).

Def: Let,
$$f: \mathcal{N} \to \mathbb{R}$$
, $(\mathcal{N} \in \mathbb{R}^{n}, open)$
 $i \quad \vec{a} \in \mathcal{N}$
Then the gradient vector of f at \vec{a} is defined to be
 $\vec{\nabla} f(\vec{a}) = \left(\underbrace{\Im_{X_{i}}}_{i}(\vec{a}), \cdots, \underbrace{\Im_{X_{n}}}_{i}(\vec{a}) \right)$

Remark: Using
$$\vec{\nabla}f$$
, linearization of f at $\vec{\alpha}$ can be
written as
$$L(\vec{x}) = f(\vec{\alpha}) + \sum_{\tau=1}^{n} \frac{\partial f}{\partial x_{\tau}}(\vec{\alpha})(x_{\tau}-\alpha_{\tau})$$
$$= f(\vec{\alpha}) + \vec{\nabla}f(\vec{\alpha}) \cdot (\vec{x}-\vec{\alpha})$$

$$\underline{eg}: f(x,y) = x^{2} + z X y$$

$$\frac{2f}{2x} = 2x + 2y, \quad \frac{2f}{2y} = 2x$$

$$\therefore \quad \overline{\nabla}f(x,y) = (2x + 2y, zx)$$

$$(eq. \quad \overline{\nabla}f(1,2) = (6,2))$$

$$\begin{array}{c} \underline{\operatorname{Def}}: & \operatorname{let} & \cdot & f: \mathcal{D} \to \mathbb{R} \\ & \cdot & \vec{a} \in \mathcal{R} \\ & \cdot & \vec{a} \in \mathcal{R} \\ & \cdot & \vec{u} \in \mathbb{R}^{n} \\ & \cdot & \vec{u} \in$$

$$D_{\vec{e}_j} f(\vec{a}) = \frac{\partial f}{\partial x_j}(\vec{a})$$

Thue Suppose
$$f$$
 is differentiable at \vec{a} .
Let \vec{u} be a unit vector in \mathbb{R}^n , then
 $D_{\vec{u}}f(\vec{a}) = \vec{\nabla}f(\vec{a}) \cdot \vec{u}$

eg: let
$$f(x,y) = \overline{xu}^{-1}(\frac{x}{y})$$
.
Find the rate of change of f at $(1, J\overline{z})$ in the direction of $\overline{V} = (1, -1)$ (not necessary unit).

Remark:
$$\vec{v} \neq \vec{o} \in \mathbb{R}^{n}$$
, not necessary mult, then
the direction of \vec{v} is $\frac{\vec{v}}{\|\vec{v}\|}$ (a multivecta).

Solu: Let
$$\vec{u} = \frac{\vec{v}}{\|\vec{v}\|} = \frac{1}{\sqrt{1^2 + (1)^2}} (1, -1) = (\frac{1}{\sqrt{2}}, -\frac{1}{\sqrt{2}})$$

 $\frac{\partial f}{\partial x} = \frac{\partial}{\partial x} \sin^{-1}(\frac{x}{y}) = \frac{1}{\sqrt{1-(\frac{x}{5})^2}} \frac{\partial}{\partial x}(\frac{x}{y}) = \frac{1}{\sqrt{1-(\frac{x}{5})^2}} \cdot \frac{y}{y}$
 $\frac{\partial f}{\partial y} = \frac{\partial}{\partial y} \sin^{-1}(\frac{x}{y}) = \frac{1}{\sqrt{1-(\frac{x}{5})^2}} \frac{\partial}{\partial y}(\frac{x}{y}) = \frac{1}{\sqrt{1-(\frac{x}{5})^2}} \cdot \frac{-x}{y^2}$
[Note, $f, \frac{\partial f}{\partial x}, \frac{\partial f}{\partial y}$ are intuinous "near" $(1, \sqrt{2}) \Rightarrow f$ is C'near $(1, \sqrt{2})$]
 f is differentiable at $(1, \sqrt{2})$
 $\frac{Thm}{D_{th}} = \frac{1}{(1, \sqrt{2})} = \frac{\sqrt{1}}{\sqrt{1}} (1, \sqrt{2}) \cdot \sqrt{1}$

$$= \left(\frac{\partial f}{\partial X}(1, \sqrt{2}), \frac{\partial f}{\partial y}(1, \sqrt{2})\right) \cdot \left(\frac{1}{\sqrt{2}}, \frac{-1}{\sqrt{2}}\right)$$
$$= \cdots = \frac{1}{\sqrt{2}} + \frac{1}{2} \quad (\text{check}!)$$

$$Pf: \left(\begin{array}{c} Differentiable \Rightarrow Diff(\vec{a}) = \vec{\nabla}f(\vec{a}) \cdot \vec{u} \end{array} \right)$$

Let $L(\vec{x})$ be the linearization of $f(\vec{x})$ at \vec{a}

$$\begin{split} & & f(\vec{x}) = L(\vec{x}) + \dot{\varepsilon}(\vec{x}) \\ & = f(\vec{a}) + \vec{\nabla}f(\vec{a}) \cdot (\vec{x} - \vec{a}) + \dot{\varepsilon}(\vec{x}) \end{split}$$

with
$$\frac{|\dot{z}(\dot{x})|}{\|\dot{x}-\ddot{\alpha}\|} \to 0$$
 as $\dot{x} \Rightarrow \ddot{a}$.

Putting
$$\vec{x} = \vec{a} + t\vec{u}$$
, we have
 $f(\vec{a} + t\vec{u}) - f(\vec{a}) = \vec{\nabla}f(\vec{a}) \cdot t\vec{u} + \mathcal{E}(\vec{a} + t\vec{u})$

$$\Rightarrow \frac{f(\vec{a}+t\vec{u})-f(\vec{a})}{t} = \vec{\nabla}f(\vec{a})\cdot\vec{u} + \frac{\xi(\vec{a}+t\vec{u})}{t}$$

Note that $|\mathfrak{X}| = \|\widehat{\mathfrak{X}} - \widehat{\mathfrak{a}}\|$, $|\underbrace{\mathfrak{E}(\widehat{\mathfrak{a}} + t\widehat{\mathfrak{u}})|}{\mathfrak{k}}| = \frac{|\mathfrak{E}(\widehat{\mathfrak{a}} + t\widehat{\mathfrak{u}})|}{\|\widehat{\mathfrak{X}} - \widehat{\mathfrak{a}}\|} \longrightarrow 0$ as $(\widetilde{\mathfrak{X}} = \widehat{\mathfrak{a}} + t\widehat{\mathfrak{u}})$ \vdots $D_{\mathfrak{e}} = \int_{\mathfrak{u}} f(\widehat{\mathfrak{a}}) = \lim_{\mathfrak{k}} \frac{f(\widehat{\mathfrak{a}} + t\widehat{\mathfrak{u}}) - f(\widehat{\mathfrak{a}})}{\mathfrak{k}} = \frac{1}{\nabla} f(\widehat{\mathfrak{a}}) \cdot \widehat{\mathfrak{u}}}$ Geometric Meanings of Gradient $\overline{\nabla}f$

At a point
$$\vec{a}$$
, f increases (decreases) most rapidly
in the direction of $\vec{\nabla}f(\vec{a})$ ($-\vec{\nabla}f(\vec{a})$) at a rate
of $\|\vec{\nabla}f(\vec{a})\|$

Idea: If f is differentiable at
$$\vec{\alpha}$$
, then
 $D_{\vec{u}}f(\vec{a}) = \vec{\nabla}f(\vec{a})\cdot\vec{u}$ (for $||\vec{u}||=1$)

Cauchy-Schwarz
$$\Rightarrow$$

 $|D_{\vec{u}}f(\vec{a})| \leq ||\vec{\nabla}f(\vec{a})|| ||\vec{u}||$
 $= ||\vec{\nabla}f(\vec{a})||$

$$\begin{aligned} \hat{u}_{e} &= - \| \hat{\nabla} f(\hat{a}) \| \leq \| D_{\vec{u}} f(\vec{a}) \| \leq \| \hat{\nabla} f(\vec{a}) \| \\ \uparrow & \uparrow \\ & \uparrow \\ & \downarrow = '' \text{ holds} \\ \Leftrightarrow \quad \hat{u}_{e} = - \frac{\hat{\nabla} f(\vec{a})}{\| \hat{\nabla} f(\vec{a}) \|} \\ \Leftrightarrow \quad \hat{u}_{e} = \frac{\hat{\nabla} f(\vec{a})}{\| \hat{\nabla} f(\vec{a}) \|} \\ \end{aligned}$$

Romark: $D_{\vec{v}}f(\vec{a})$ can be defined for any vector \vec{v} , not necessary $||\vec{v}||=1$ and could be \vec{o} , by the same definition

$$D_{\vec{v}}f(\vec{a}) = \lim_{t \to 0} \frac{f(\vec{a}+t\vec{v}) - f(\vec{a})}{t}$$

One can show that $\begin{aligned}
 U_{\vec{v}}(\vec{a}) &= \begin{cases} ||\vec{v}|| & D_{\vec{v}}(\vec{a}), \quad i \in \vec{v} \neq \vec{0} \\ |\vec{v}|| & D_{\vec{v}}(\vec{a}), \quad i \in \vec{v} \neq \vec{0} \\ 0, \quad i \in \vec{v} \neq \vec{0} \end{cases}$

and that $D_{\vec{v}}f(\vec{a}) = \nabla f(\vec{a}) \cdot \vec{v}$ if f is differentiable at \vec{a} (not true in general, if f is not differentiable) eg f(x,y) = J(xy) at (0,0)

Proputies of Gradieut
If
$$j \cdot f, g: D \Rightarrow IR$$
 ($D < IR^{n}, open$) are differentiable,
 $i \cdot c \Rightarrow a constant$,
Hen
(1) $\vec{\nabla}(f \pm g) = \vec{\nabla}f \pm \vec{\nabla}g$,
(2) $\vec{\nabla}(cf) = c\vec{\nabla}f$
(3) $\vec{\nabla}(fg) = g\vec{\nabla}f + f\vec{\nabla}g$
(4) $\vec{\nabla}(\frac{f}{g}) = \frac{g\vec{\nabla}f - f\vec{\nabla}g}{g^{2}}$ provided $g \neq 0$
(Pf = Easily from properties of partial derivatives)